
0
.
1
5
A
A

B
6
 
H
8( +

0
.
0
1
8

 
0
)

0
.
1
5
A

B

6
 
H
8( +

0
.
0
1
8

 
0
)

9 mi
n

9 mi
n

15

11.25

N2-1 x ß

1 min

6
7
8
 
m
a
x

6
8
7
.
4 
m
a
x

( 761) ( 761)

778

665

5
0 
m
a
x

5
0 
m
a
x

778

665

0.4

0.4

A A B

N2 x M8x16

0.4

0.4

A A B

N1 x M8x16

0.4

0.4

C C D

N1 x M8x15

0
.
1
C

D

6
 
H
8
(+

0
.
0
1
8

 
0
)

9 min

11.25

N1-1 x ß

45 0.3

Water cooling inlet/outlet

L2 0.3

L1 0.2

L3 0.1

15+0.5 0

15+0.5 0

39.5 0.2

A

C
u
s
t
o
m
e
r
'
s
 
h
o
u
s
i
n
g
 
m
u
s
t
 
b
e
 7
9
5 
H
8
 

0
.
3
A

C

6
5
0
 
H
8
(+

0
.
1
2
5

 
0
) 

3 0.2

18 0.2

31.5 0.2

3 0.2

18 0.2

31.5 0.2

11.25

N2-1 x ß

N3-1 x ß

0.4

0.4

A A B

N2 x M8x16

0.4

0.4

C C D

N3 x M8x15

Designation L1 L2 L3 N1 N2 N3 ß

TMB+0760-050 130 85 51
16 8 16 22.5°

TMB+0760-070 150 105 71

TMB+0760-100 180 135 101

32 15 31 11.25°TMB+0760-150 230 185 151

TMB+0760-200 280 235 202

Cable output
See page 2

See "afficher les arêtes modifiées" in tab "shéma" because some edges are modified by "affichage des arêtes"

"Be careful: output cable screw are ""fixed"" and not constrained. Which means

Identification labels

Cable output
See page 2

Water cooling inlet/outlet

I-I

X

Y

Z

2x O-ring seal

Identification labels

Rotor interface
Only one should be used

M
u
s
t
 
b
e
 
r
e
s
p
e
c
t
e
d
 
f
o
r
 
t
h
e
 
m
o
u
n
t
i
n
g

Identification label

X
2:1

Y
10:1

Magnet safety clearance

Z
2:1

J-J
1:1

A
05

A
05

A
05

1

A

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B

C

D

E

F

G

J

K

L

M

N

P

Q

R

1

A

H

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

S

24

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

88
6 

20
0 

A0

- - -
ETEL S.A.
2112 Môtiers
SWITZERLAND

an_etel ID number:

Text: Change No. C075986-38
Released: 14.12.2021

Original drawing    TMB+0760-###-#####-O#-AA0 Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011Scale Format TMB+0760-###-#####-O#-AA0Dimensions in

mm 1:2 A0 Mating Dimensions / Cotes d'encombrement
Dimensions without tolerance
Dimensions sans tolérances  0,2 

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1177077 05 A 01 1
of
2Document number



Customer's housing must be 795 H8 

17 max

2x H1 max

79 max

( 6)
Sensor cable 8x0.25mm²

2x ( D)
Power cable 4xS

20.2 220.2 2

1
0
.
4

2

2x ( D)
Power cable 4xS

2
x
 3
0
.
9

2

2x H1 max

20.2 2 20.2 2

2
x
 3
0
.
9

2

82 max

7 223 2

2
4

2

2
4

2

Customer's housing must be 795 H8 

H
1
 
m
a
x

1
7 
m
a
x

79 max

( 6)
Sensor cable 8x0.25mm²

( D)
Power cable 4xS

Customer's housing must be 795 H8 

23 2 7 2

2
4

2

2
4

2

10 5

1
7 
m
a
x

H
2

2

79 max

H
1 
m
a
x

( 6)
Sensor cable 8x0.25mm²

(
D
)

P
o
w
e
r
 
c
a
b
l
e
 
4
x
S

 L5 max

Customer's housing must be 795 H8 

L6 max

2
x
 (

D
)

P
o
w
e
r
 
c
a
b
l
e
 
4
x
S

2
x
 1
4 
m
i
n

( 6)
Sensor cable 8x0.25mm²

1
1

2

2
x
 3
2

2

79 max

690.4 min

4
2
.
5 
m
a
x

1
7 
m
a
x

2
x
 2
1
.
1
2

Customer's housing must be 795 H8 

2
x
 3
0
.
9

2

20.2 2 20.2 22x ( D)
Power cable 4xS

1
7 
m
a
x

2
x
 
H
1
 
m
a
x

( 6)
Sensor cable 8x0.25mm²

79 max

1
0
.
4

2

Customer's housing must be 795 H8 
( 6)

Sensor cable 8x0.25mm²

2
x
 
(

D
)

P
o
w
e
r
 
c
a
b
l
e
 
4
x
S

2
x
 
(

D
)

P
o
w
e
r
 
c
a
b
l
e
 
4
x
S

79 max

2
x
 1
4 
m
i
n

1
1

2

2
x
 3
2

2

L6 max

690.4 min

17 max

2x 21.12

42.5 max

2x 21.12

42.5 max

150 max

82 max

1
4
.
5 
m
i
n

2
x
 3
2
.
6

2

690.4 min

Designation Output type S=Wire section L5 L6 H1 H2 D SW Bending radius

[-] [-] [mm²] [mm] [mm] [mm] [mm] [mm] [mm] [mm]

TMB+0760-###-UB#S# Type 1
2.5

-

-

30.5 -
10.6

36

S
t
a
t
i
c
 
b
e
n
d
i
n
g
 
r
a
d
i
u
s
 
f
o
r
:

 
-
 
s
e
n
s
o
r
 
c
a
b
l
e
 
=
 
3
0

-
 
p
o
w
e
r
 
c
a
b
l
e
 
=
 
4
x
 
e
x
t
.

TMB+0760-###-UB#E# Type 2 51.5 38.6 22.8

TMB+0760-###-WB#S# Type 1
4

- 32.5 -
11.9

TMB+0760-###-WB#E# Type 2 53.5 38.6 22.8

TMB+0760-###-WC#S# Type 1

10 

- 38.5 -

17.5 

TMB+0760-###-WC#E# Type 2 62 45.9 26.8

TMB+0760-###-WF#S# Type 3

-

38.5

-
TMB+0760-###-WF#E# Type 4 156.5 -

TMB+0760-###-WL#S# Type 5  - 38.5

TMB+0760-###-WL#E# Type 6 156.5 -

TMB+0760-###-UF#S# Type 1

16

-

-

33 -

21.6

TMB+0760-###-UF#E# Type 2 65.5 48.3 25.7

TMB+0760-###-UL#S# Type 3
-

33

-TMB+0760-###-UL#E# Type 4 146 -

 TMB+0760-###-WD#S# Type 1 -
-

33

 TMB+0760-###-WD#E# Type 2 65.5 -  25.7

Type 1 Type 3 Type 5

Type 2 Type 4 Type 6

See "afficher les arêtes modifiées" in tab "shéma" because some edges are modified by "affichage des arêtes"

Eclated view created for elbowed output to avoid the matter colision
+ Sketches directly done from the 2D (tab "esquisse) for the 2nd elbowed output cable

Wrench size: 13mm Wrench size: SWmm

Wrench size: 13mm

2x wrench size: SWmmWrench size: 13mm

2x wrench size: SWmmWrench size: 13mm

Wrench size: 13mm

2x wrench size: SWmm

2x wrench size: SWmm

2x wrench size: SWmm

Wrench size: 13mm

2x wrench size: SWmm

0140
0175
0291

0210

0290
0360
0450
0530
0760
0990
1221

White - Brown Phase 1 Phase 3 Phase 2 

Green - Yellow Phase 3 Phase 2 Phase 1

Grey - Pink Phase 2 Phase 1 Phase 3

Motor family

Connection

Power cable connection

Phase 1 = wire 1
Phase 2 = wire 2
Phase 3 = wire 3
PE = yellow/green wire

Sensor cable connection: "P" or "T" configuration

SNM 120

SNM 120

SNM 120
Configuration type Sensor

"P"

"T"

KTY 84

PT 1000

PH
3

3 2

PH2

1

P
H
1

White Brown

Sensor

+

-

Green Yellow Grey Pink Blue Red

Sensor

+

-
Sensor

+

-

A
05

A
05

A
05

A
05

A
05

A
05

1

A

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B

C

D

E

F

G

J

K

L

M

N

P

Q

R

1

A

H

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

S

24

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

88
6 

20
0 

A0

- - -
ETEL S.A.
2112 Môtiers
SWITZERLAND

an_etel ID number:

Text: Change No. C075986-38
Released: 14.12.2021

Original drawing    TMB+0760-###-#####-O#-AA0 Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011Scale Format TMB+0760-###-#####-O#-AA0Dimensions in

mm 1:1 A0 Mating Dimensions / Cotes d'encombrement
Dimensions without tolerance
Dimensions sans tolérances  0,2 

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1177077 05 A 01 2
of
2Document number



1

A

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B

C

D

E

F

G

J

K

L

M

N

P

Q

R

1

A

H

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

S

24

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

88
6 

20
0 

A0

- - -
ETEL S.A.
2112 Môtiers
SWITZERLAND

1.2 A-B
69.5 max

16.5 16.5

810.8 max

43
2.

4

2.4 A-B

12
.1

 m
in

12
.5

 m
in

15

15°

1.2 A-B
69.5 max

810.8 max

42
7.

4

2.4 A-B

12
.1

 m
in

12
.5

 m
in

45

L2

16.5 16.5

15°

Designation L2
TMB+0760-050 85
TMB+0760-070 105
TMB+0760-100 135
TMB+0760-150 185
TMB+0760-200 235

TMB+0760-###-#####-A#-AA0
(Annex to interface drawing 1177077: please check for motor and cable output information)

TMB+0760-###-#####-R#-AA0
(Annex to interface drawing 1177077: please check for motor and cable output information)

an_etel ID number:

Text: - Change No. C117693-09
Released: 12-Jan-21

Original drawing    TMB+0760-###-#####-##-AA0 Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011Scale Format TMB+0760-###-#####-##-AA0Dimensions in

mm 1:2 A0 Mating Dimensions / Cotes d'encombrement
Dimensions without tolerance
Dimensions sans tolérances  0,2 

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1219920 03 A 01 1
of
1Document number

See "afficher les arêtes modifiées" in tab "shéma" because some edges are modified by "affichage des arêtes"

"Be careful: output cable screw are ""fixed"" and not constrained. Which means

ATTENTION: "Phase: Serial" inserted manually

ONLY FOR HYDRAULIC FITTINGS
(G1/2x15 min)

2x Port ISO 1179-1 - G1/2 - N

7.8 A-B C
2x

0.3 D E

to handle the motor
Do not use these surfaces

1:5

7.8 A-B C

ONLY FOR HYDRAULIC FITTINGS
(G1/2x15 min)

2x Port ISO 1179-1 - G1/2 - N

to handle the motor
Do not use these surfaces

2x
0.3 D
2 F

1:5

D

D

E

C C

A

B

A

B

F


	Feuille 1
	Vues
	new_view_1
	gauche_2
	gauche_3
	X
	Y
	Z
	new_view_22


	Feuille 2
	Vues
	new_view_13
	new_view_15
	new_view_16
	new_view_18
	new_view_19
	dessus_27
	dessus_28
	new_view_29
	dessus_30
	new_view_31
	dessus_32
	new_view_33
	new_view_34
	droite_35
	new_view_36
	droite_37
	new_view_38
	new_view_39
	droite_40
	new_view_41
	droite_42
	new_view_43


	TMB+0760-CC.pdf
	Sheet 1
	Views
	new_view_53
	top_55
	new_view_56
	new_view_58
	top_60
	new_view_61




